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THIS EXAM CONTAINS 6 QUESTIONS! PLEASE, ANSWER ALL OF THEM!!

1. How does trade in the modern world economy differ from trade in the past—say, 1925?

2. Suppose that:
* Malaysia requires an hour of labor to produce a pound of rice and 2 hours of labor to produce a
pencil;
* Indonesia requires 2 hours of labor to produce a pound of rice and 4 hours of labor to produce
a pencil;
= each country has 10,000 hours of labor to allocate between the production of rice and pencils;
and
* in autarky, Malaysia consumes 5,000 pounds of rice and 2,500 pencils.
a) Which country has an absolute advantage in rice production? In pencil production?
b) Which country has a comparative advantage in rice production? In pencil production?
c) Will trade between the two countries be mutually beneficial?

3. Explain
a) How increasing returns to scale in production can be basis for trade?

b) Why is trade within a country greater than between countries?

4. The following graph shows the relationship between a large country importer of a good,
say steel, and its tariff rate (in percentages). Explain why the curve reaches maximum and
then declines.
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5. Answer

a) Explain the difference between risky and riskless arbitrage.

b) Absolute PPP doesn't do a very good job explaining exchange rates in the short run.
Explain why not. Can you give a better model to explain short-run exchange rates?

6. What are five main factors that influence migration decisions of potential migrants from
developed countries? Discuss each of them shortly.



